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Use separate Answer Book for each group

Group-A
e+

i Answer any two questions from the following:
feraferiie @-crie 4fb e Ted nies
(a) What are the causes of trade between two countries?

fb rrefa ey iy SR Fieef 5= o
(b) Define comparative advantage when labour is the only factor of production.
3 T TLAMCAA GG SHAMIT S QFNers T R Fe e |
(c) What is the difference between optimum tariff and prohibitive tariff?
T wHLE @ AR wHREa Wy N F o
(d) What is the role played by demand in the Heckscher-Ohlin model?
- <o S bW el R 7
(e) What is ‘Metzlers Paradox?

IR 4l 6 9

2. Answer any one question from the following:

T=fTRe @-@ i 6 20 Ted whes

(a) Show two special cases where the entire gains from international trade are
due to production specialization and entire gains due to exchange.

wih e SEia I ! @RI wios A @F A Feifed S
fArEiEad (U @R [ T @ 718 24|
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(b) What is meant by Leontief Paradox? Give two possible explanations of this 3+6
paradox.
oo Fore Teie & @Il 2 92 OISR 16 TSI JIi Wi |

(c) Derive the Marshal-Lerner condition for stability of equilibrium in - 9

international market.

HEEfos AT SRACNR Zfeerer vty aris-anir -« safb e

3. Answer any three questions from the following: 15%3 =45
fsfeie @-cial feafe eivs Bea wie:

(a) (i) Define and derive the offer curve of a country. ; (2+4)

@1 e Atfeley e i Te e ¢ aifey @t i fameia e H4+5)

(i1) Define and derive offer curve elasticity. How is import demand
elasticity and export supply elasticity related to offer curve elasticity?

ey ewr @E Efezreer e we ¢ fdy s Smidl sifgwes
Ffomsael ¢ qgid @eme Efezrrer 7 e 2wR @R TR
g st

(b) Prove that under price definition of factor abundance, Heckscher-Ohlin 15
theorem is always true but under physical definition, only with identical and
homothetic preferences.

2371 A (@, TAMIFTS &AHIA WIS FR G| WA (@8 2lfSoiwfo sdmm
o, g TomAsrs 2R (S0 @ SFAE @ERR-sfF oAl ewe TS
TG 6 I biig @l Tk =181
(c) (i) Analyze the partial equilibrium effects of tariff and import quota. 10+5
S SREIIER SEwa 9% ¢ wfauidiee fraaae weee f[Rose s
(i1) When shall the effects of these two be equivalent?
Grd T I Wied IR ¢

(d) (i) Show that Balance of Payment is always in balance for a country. 8+2+5
e @ WO 0 A0S 74713 SRE R 33|

(ii) Distinguish between Autonomous and Accommodating transactions.
TR ¢ TEESI A #Aida 9

(iii) How do you relate the current account deficit with Government budget
deficit and domestic private investment saving sector?

FEfoS Qitfed Hex Faidl Ares wibie @ wrersdia ey - [fae qibfe
eI 7RYE © I FE |

(e) (i) What do you mean by internal and external balance of an economy? 2+8+5
1 (wreia SIfed Sreredid © RSN e fF @il ¢

(ii) Explain how the internal and external balance may be simultaneously
attained with the help of Swan-diagram.

O9F2 AE TerEa ¢ AfzsiE Fena wfee 3re #iitg © Swan fHrad
AR A AT
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(iii) Discuss the Assignment problem in this connection.

@3 SCH SR i RS Tt

Group-B
faer-4
4. Answer any three questions from the following: 4x3 =12
fesfeiie - foafp arm Tea e
(a) What do you mean by ‘excess burden of taxation’?
(39 “wfofie @R 2@s & @i ¢

(b) Distinguish between revenue deficit and budget deficit in Government
~ finance.

1A ACHCH AT WS @ AET Qe #i1<fa (e

(¢) What are the advantages of income tax over expenditure-tax?
JIFA 97 QI SR el & o

(d) What are the merits and demerits of G.S.T?
G.S.T (i) #ifacaa1 29) @3 sl e spjfadefe & @

(e) Distinguish between internal debt and external debt.

Sre@le 4 @ M e Wy A rdie |
5. Answer any fwo questions from the following: 14x2 =28
fasfeie Q- 46 aes Teg wie:
(a) What are the problems of defining income for tax purpose? Compare the 4+10

effect of a proportional income tax with that of a progressive income tax of
equal yield on work effort of a typical worker.

7 iR oot weR Wl Ao weiels & & ¢ W gfes o 2k
Tofg T AIGH TeAMaEId] TG @ epoifeie] WRREE 2R SED! &1

(b) Critically explain ‘The ability to pay’ approach to taxation. 14
‘&9 emitad el yiReH b e @
(c) “An indirect tax imposes an ‘excess burden’ compared to a direct tax of 14

equal yield”. Do you agree with this view? Give reasons for your answer.

A ey HRSR A A AN AEE I el @Rl HE w@r 2
wizefa iy ofut [ sizwe eer st » Taraa 7oies Ife mae)

(d) Write short notes on the following: 7x2 =14

frsfefie Renefea Som w: e Biet @rar

(i) Balanced Budget Multiplier
T5S =) AT eI

(if) Double taxation of Savings..
LT G G2 T4 A
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Time Allotted: 4 Hours Full Marks: 100
The figures in the margin indicate full marks. fifes T wgE RYMG 20 ot FE)
Candidates should answer in their own words AT TS GIRIRT A/ TG AN Y
and adhere to the word limit as practicable. Te Pl
Group-A
feit-=
B Answer any six questions within 150 words each from the following: 4x6 =24

fasfeiae @-cet s9f0 avia Tea wie &Sl seo *itwa W

(a) State the impact of Green Revolution in Indian agriculture.
Y e 3RTe TE Reaa eeref Srad w |

" (b) Mention the reasons for deceleration in the rate of industrial growth in India
in the mid-sixties.

SHvo G WHEE ARIMIR TN orre fiy Seomag 2 wuiewien siadefH
Trad

(¢) Mention the reasons for monopoly in Indian industries.
wiaees e cwea el Tt Tl Sk Ft
(d) Explain the concept of Goods and Service Tax.
“ o) SAfRERI T (G S T) SR A IR
(e) Define the concept of Fiscal deficit and Budget deficit.
7 arey aibfe @ ANCes wfen dRe e W)
(f) Explain the concept of inclusive growth.
S gaglie g €iRe T S
(g) Write a note on the unorganized labour market in India.
SIS SPRAIfEe At e fca Bt A
(h) State the weaknesses of the public sector in Indian industries.
SRTSH TEFA! (41 R fderelefe Srad FEl
i) Mention some of the impacts of globalization on Indian industry.
/ orred s cve e e aer Trad FEn

-/(j) Write a note on the impact of demonetization on black money in India.

SRS M SRR Toita Riquissared erei— R «afb Bt e
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Group-B
R4

Answer any fwo questions from the following 8x2=16

e @-cieat 7fo e Tex wie

Discuss the impact of economic reforms on unemployment problem in India.
SHTS @A T ST W FRFICE &l Sl Sl

Critically evaluate the export-import policies of the Government of India
since 1991.

Youd e (AT TS FHRIAT SNAA-AR Tfeq @b FINADANETS JeRA
A0

Write a note on the impact of globalization on Indian agriculture.
SRS FR (7043 B2 [eiarea 2ol fca @B Biet (et

Discuss the problem of growth along with equity in Indian economy.

SIS WSS e e 3w PG SHen=

Group-C
sttt
Answer any four questions from the following 15%4 =60
2 frefeRe @-@ 1afF 2o Ted mie
Discuss the nature of unemployment in rural India. Critically evaluate the 7+8

role of MGNREGA in this context.
SRR 2N RPRTT 2T TG 0 | @2 &% MGNREGA s gt
SEIHE S

Write a critical note on the balance of payment situation of India during the 15
plan period. ;

AR TP SRS T TG T A FANCEAGTEAS Bl e

Critically examine the disinvestment policy of the Government of India. 13

SR FRHIEE @RFNT A disinvestment W7 9B ANCGARER T
N

Write a note on the Banking Sector Reforms in India since 1991. 15
Sodd 6 (U SITS AR CFg FRFI A 4 fB DIl &l

Discuss the Farm size productivity debate in Indian agriculture. 15
SRCSA FACS (@eA Tiew 8 BeriwaRieror o< fa seeimsat et

Critically evaluate the recent demonetisation policy of the Government of 15
India.

SRS IR Mreifes Rymed Aifeq @b ARG JeE- FEl|
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Candidates should answer in their own words ST e SIT I HET AN W
and adhere to the word limil as practicable. Ceq A1

All symbols are of usual significance.

Use separate answer book for each group
Group-A
Ret-

E. Answer any three questions from the following: 4x3 =12

fraferie @- foait eria Tag wies

(a) For any two events, 4 and B, show that 4
P(AB)< P(A)< P(AU B)< P(A)+ P(B).

CT-CHICA 45 W61l 4 @R B -9F CFCG SHCENG SPTToiib 2fstiet St

(b) For a binomial distribution, the mean and SD are respectively 4 and EN 4
Calculate the probability of getting a non-zero value from this distribution.

GG s TCRHIa N 8 7 #A1<F) TG 4 @R /3. @2 T @ 4
OIS &) TR AN TSI T 0 el |

(¢) Define a random variable. Find the probability that a continuous random 4
variable assumes a definite value. '
b FPES 551 IResl Wi qfo wffozs 7% beia «<fo e Wi ez
a1 FERA e e

(d) A man draws two balls from a bag containing 4 white and 6 black balls. If 4

he is to receive Rs. 9 for every white ball which he draws and Rs. 6 for
every black ball, what is his expected gain?

[ <35 A 4 T A1 @k 6 T PN 01 w1 @<T & A (S B 767 9L AR
9= T @ e el 3wl 751 corm & 9 B @k @fflb e AT T 6
Bl 417, ©F @ e efepife e e ¢
(¢) What do you mean by a ‘sufficient’ estimator? 4
35 Sufficient ARt el wie |
: (f) ““If Hy is accepted at &% level of significance, it will definitely be accepted 4

at a»,% level of significance, where oty < o2 — True or False? Give reasons.
“Ff Hy, 0% O T 931 27, O ©f S3 o, % ©lesid S oj2ie 2,
Ty < 0" — T3 G 9 FIREPTR P FC |
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2. Answer any one question from the following: 8x]1 =8
frfeiRe @i @@ o eva Tea nes

(a) Find the mean and variance from the Poisson distribution. 8
G [ (4@ o1C @3k (ewe fad F et
(b) (i) Define a probability density function. 2+6
HEIA] GG SCHFE FIF O 9

(ii) Evaluate the probability density function from the following distribution
function.

fr=a =Rl A (Q0F FERA 99 SErFE0 W et

2x?
.__-_-"

3

F(x):{—§+§(3x—%} when l<x<2

L when x>2

when 0<x<l1

L

3. Answer any fwe questions from the following: 15x2 =30
fsferiRe @-ceieat 7t @ivis Tea wiss
(a) (i) Prove that for any two independent random variables, X & Y, 5+7+3
E(xy) = E(x). E(y)
oue I@ @ I ¥ R Y uo ATEI AW R W, R
E(xy)= E(x). E(y)
(it) What is the difference between SRSWR and SRSWOR?
SRSWR @3 SRSWOR #1afs 763 211y et eat|
(iii) If, for a Poisson distribution, P(x=0)= P(x=1), find P(x>0).
Ffw *ae fA@=ma (F g P(x=0)= P(x=1), T, O@ P(x>0)-93 I
fadfa st

(b) (i) If (x,x;,%;---x,) is a random sample from an infinite population with ~ (5+2)+8

n
. 2 L 1 S
variance o and X is the sample mean, show that _E (Jvc,-—x)Z Is a
i=l

biased estimator of ¢, but the bias becomes negligible for large n. Give
an unbiased estimator of .

X5 Xy Xy - X, G0 S HALAF G T A THAFR TIA AC ¥ 4R

ewde o?, (RS & lZ(x;.—E)z T o -93 93 *FEeiers e
n

i=1

AME #-G7 W T IC T & *FF7oqzol 008 SFe! T4 | 9H o -9F
9T AFeifee A fdwe st
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(i) The marks of 5 students in Economics are 20, 24, 20, 30 and 26.
Random samples of size 2 are drawn without replacement. Calculate
E(x) and SE(X). How far the values of E(¥) and SE(X) change if

samples are drawn “with replacement” method? (Here, X =sample
mean).

5 & witas SIS R e 79 @ %1 20, 24, 20, 30 € 261 9N (@
SRSWOR #fers 2 7w Rf¥E S@w w91 =kalz 341 2971 E(X) ¢ SE(X)-
9q i 3 Sl 3 SRSWR #Wafers @l ske8e 28 o@ £(F) @
SE(X) Wi« Feb! #6078 ¢ (X = 1 1T)

(¢) (1) Explain, with example, the idea of ‘confidence interval® of a statistic. 4+4+7
Tuizge A 9% Statistic @9 “Confidence interval’ @3 4@ i
<4l

(i) Distinguish between Type-I and Type-II error for hypothesis testing.
Hypothesis testing €3 (%F(g Type-1 € Type-11 QM@ W&y i< FA|

(iii) A sample of 900 members has a mean 3.4 ¢cm and standard deviation
2.61 cm. Can the sample be regarded as drawn from a population with
mean 3.25 em? Find 95% confidence interval for the population mean.

(Given Z s = 1.96, where Z is standard normal variable).

900 3% [FE @i TR G 3.4 cm ¢ FF KRS 2.61 cm1 92 T3
T G GPRY (F RIS AR T G 28 3.25 cm —a5i 7§ 2w
TR 2 ATFHGE TR A8 95% confidence interval [ st

(d) (i) State and prove Bayes’ theorem. (2+3)+5+5
Bayes’ 93 Towfs ge @ e

(ii) A random variable has the following probability function.

¥ jot1l2z+slals) 6 7
P(x)| 0| k|2k|2k|3k| |22 | TH+k

Determine (i) Constant k, (i) P(x<6); (iii) P(x>6)
G HIEI 5V AR AT S (e ez | [Hfa e
(i) &3 k (ii) P(x<6) 9 (iii) P(x>6)
i [2, 0<x<1l,0<y<x
(It 7(x.y) J[O, otherwise

Check if x and y are independent.
TATANG S (A0 5 981 T x '8 y Wi 9

3042 3 Turn Over
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Group-B
-4

4. Answer any three questions from the following:

fasfeie @-@ie foafp aveg Teq wies

(a) Ram intend to invest Rs. 2,500 (his only wealth) in a risky project that might
vield Rs. 10,000 if the project succeeds and nothing otherwise. If he is
indifferent between these two options and his utility function over wealth is

given as u = w"? , find out the probability that the project fails.

am @35 JReed @xtE 2,500 B (VR GG 7w [cHe F90S B, IS
e 1wel 203 TS 10,000 BRFl @S (A0S 2A1Ta | ST %2 1 (90 =)
7w ol o Tl SR u=w'? 2 ek o oFEh azd a1 g5
FAR T FFRCPF A, O 2wt 9 2997 FSRE! [ i)

(b) Show that in a two-person zero-sum game, Maximin < Minimax.
(B 13 CATEAIG T& *[+7) (9 (510 (A48 (T Maximin < Minimax
(¢) Find Y* and C* from the following:
Y=C+IL+G,;;C=25+6y"% I =16,G,= 14
ferafefae s (U v @k O+ e e
Y =C+1y+Gy; C=25+6y"% 1,=16,G, =14

(d) Show that the dual of the dual is primal itself in any linear programming
problem.
-~ e (@, (@ @A G35 7@ @R celleliffR 0 ¢ (39 (dual) STE7R (99
(dual) F1 SM%CS 3T (primal ) 73R

(€) Assume that the rate of investment is described by the function I(¢)=12¢

and that initial capital stock is 25. (i) Find the time path of capital stock ‘&’
and (ii) amount of capital accumulated during the time intervals [0, 1] and

[1,3].

g2l e, [Rfcer 21 = 1) =12¢"7 @R TR 2REE Sior 28 25|
(F) TEUR e k-9 TRe [ I @k (F) [0, 1]9%R [1, 3] 93 3@
IR T e e »Ifwia e e

(f) Consider the following 2 x 2 inter-industry input coefficient matrix for a
Leontief static open model:

[0.4 0.1]

07 0 6| and the direct input (labour) coefficients are 5, 2];

|

Check whether the system satisfy the conditions required for existence of
positive price vector.

a3 e I& fereafbee wrerer Ty fafrfde yarra [+E sy Seimia

mﬂaﬂmﬁﬁmﬂiw[m U'l_ﬂ
2 0.7 0.6

7E (5, 2]; WCH0A 4AITP WiS-939 2R *S&fe sjael e el #/arwl e

1/3

G2 W T LOTF &3 TeoAve Hea e
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5 Answer any one question from the following: 8x1=8
fsfefRe Q- G0 2o Ted wies
(a) Suppose that for a particular commodity, the demand and supply functions 8

are as follows : g% = a—bp (a,b > 0)
and ¢* =—c+dp(c,d >0)
- AN I QS CRCE BIfRAT 8 (I SorEE 71 el
qdza—bp (a.b>0)
AR ¢* =—c+dp(c,d >0)

If the price-adjustment is directly proportional to excess demand; find out
the time path of price and interpret the different components of the
expression you have derived.

@l A Wi AR 79 2 Aol sifknia Jew o e ww-oel e
el s [4ifae expression 3 fRifen ke wicsi i1 e

4 1
(b) Consider the following 2x2 matrix game A= {2 3]] 4+(2+2)
(i) Find Nash equilibrium of the game
(i1) Now suppose player A’s pay-off matrix of the above problem is
923
changed to s ?ﬂ , then what are the effect on the value of the game
and optimal strategies of both players?
4 1
fersfeifie 22 (1t matrix T Reaeat et A=[2 3@
() (oI5 Nash oy e
. 9 3
(}) M g@ I A-99 Ao WifTEbe cifaea e [5 ?a; aUHG
FOR (TR 67 deis 3R 8 To¥ RERIer ) i @eef &
sfgafSe 7@ ¢
6. Answer any fwo questions from the following: 15x2 =30
fersfefre Q@-cial 7fo @ivss Tes ies
(a) Solve the following linear programing problem with simplex method. 15

foraerst 1o =1 fooe tafie celiamsibs s <+
Minimize z = 4x; + 5x, + x,
Subjectto = x;+x, > 9
X +x;<8

Do = % 28 5% X5 X 200
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(b) Suppose the demand and supply functions are given as follows; 6+6+3

s, :ﬁi(g’_a) and D,=y—-06F; a,B,7.6 >0
21 T bifewl 8 I SirorFeef fwemet

Sa‘:-;_(P:f—a) AR Drzy_é'Pr; a’ﬁ’}/’5>0

(i) IfP = F,_,, set up the difference equation and solve for the time path.
A% P = P_, 209 R4 (difference) 20l eifefe Feat @ w7 #4
AT BT

(i) Find out all convergent and divergent conditions and illustrate your
answer in a supply-demand diagram.

- #1467 WS (convergent) ' SR (divergent) 263 *oaf [
FAN

(iii) If P'=P_ + A[P_,— F,_,]; A >0, set up the difference equation.
T P =P+ AP~ P_,]; A>0 T SE I (difference) FwaeiH

afsfore )
(¢) (1) Consider the following input-output matrix: 8
Agriculture | Manufacturing | Service
Agriculture 0.2 0.3 0.2
Manufacture 0.4 0.1 0.2
Service 0.1 0.3 0.2

3042

The final demand for agriculture, manufacturing and service sectors are
10.1, 5.3 and 5.6 respectively. Find out the output produced in these three
sectors.

fafeie TAma-Seiva (matrix) B3 st =
I | P | ot
zpﬁ 020302

a1 04]01]02
e|| 01103102

foal cFtg Teriifre wa oF oifEw =0 TAGFE 10.1, 5.3 € 5.6 foal cweg
Testifns wrpz #ifawme [ s

(ii) Setup and explain the “diet problem” as a standard example of a linear T
programming problem.

@ el e ot e geme Swizgd e aw it e
IR SIS A |




B.A./B.Sc./Part-11I/Hons./ECOA-VII/2018

(d) (i) Distinguish between ‘Pure Strategy’ and “Mixed Strategy™ 3
e (e @ fi GFiCea e #Nides foo e

(ii) In a two person zero-sum-game following is the pay-off matrix of A :

b 42 e X @IsRFe oftal A-a3 (- i’ e 21 2+10
|1 2% A
1/8 29 5
216 5 7 18
317 3 -4 10

(A) Write down the payoff matrix of B; (B) find out all possible pure
strategy solution or saddle point if any. Explain the procedure in detail.

(¥) B-43 (o~ WA @, (B Reew (e 33 0 orbd FIee A
(saddle point) fefa 33l @ wiz Rem R wie)

3042
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Time Allotted: 1 Hour Full Marks: 25
The figures in the margin indicate full marks. e Fsg J4rE FANE T e I
Candidates should answer in their own words ARG [T I I T AT
and adhere to the word limit as practicable. B #fa)
I Answer any ene question from the following: 15x1=15
fAsferide @-@I 9o evs Ted wes
(a) What are the causes of de-industrialization of Indian Handicrafts in the 15

nineteenth century?
TR ¥R SR MR Rissrraria Frdef & & o

(b) Discuss the major features of the policy of ‘Discriminating Protection’ 10+5
followed in India between first and second World Wars. Analyze how this
policy contributed to the expansion of Indian industries.

2w ¢ sty fRrgras Sede! S SRS SIS (FANETd Hawe Alfobd ey
fiErafE wiEs T oo MireR SRR 2 el e wrme! wafe

s T
2 Write short notes on any #we of the following: 5x2=10
fsfeie @-c fba Bom wifee Sis et
(a) Causes of commercialization of agriculture during British Rule
&b« erare e afifesdiwars sz
(b) Railway freight and fare policy in British Period
&6 SrTs e 2eres ¢ Fdrerol S
(¢) Economic effects of ‘Economic Drain’
S frmmicT wdafos eeipmz
(d) Recommendations of Fowler Committee.
TR FRIOA FRE)
3043 1



